e CR EERf+ B2 X4 =xwm

[)-/TWV
‘IB Mm [WTF] #e3E =1/319.6 FEZ = - #] 50.0% + #E§% 80.0%( B57% =1/546.1)
FYR=E%%E 100E Eik=4218384813
WY A7 - VREEGTE
Wi AR AR - - 2L
W R AT —- - 418
BB - ANEIEHAL
W57 RER---HY
| VIR /R4
WEH---HiH

[MAX HHE])
[WTF)(13 @ /9C)
© 5R+++ 540 {&
“15R- 1,620 {&

AL AEY—

O ~ N
e Iy — - A 7
= —0, Cog- - - 40 __ -
HITFUAE— o o ODO e _./6000 ODO - e
o, O o o ~ O
%o, 0"0g ;- 008 o© o o o
8] Oo. HH'&H e gt Oo o o
Og ™= 50
~ ©°o© Ooooo o~ © 0 5 0O o ) —
o] o, o -
auTh, O O, ! /
o ° (o] 2?0 /5\ OODO } @ { ————‘/ .f_x
WiEEAROHER ~“auT o o \\\/ /

LTI >
[E#ESaL—30]
<BEBREEHN= o E>

O FUMIE, HEAMMA] ICBoET. (B AM] TOEMIZAUET, Presented by TKC (HREH k=5l - /% - 3%svar )




